Exercise k / SM 4.1

Original sequences:

f1

ATCCGTTGAAGCCGCGGGC

Reversed

GCCCGCGGCTTCAACGGAT

f2

TTAACTCGAGG

Reversed

CCTCGAGTTAA

f3

TTAAGTACTGCCCG

Reversed

CGGGCAGTACTTAA

f4

ATCTGTGTCGGG

Reversed

CCCGACACAGAT

f5

CGACTCCCGACACA

Reversed

TGTGTCGGGAGTCG

f6

CACAGATCCGTTGAAGCCGCGGG

Reversed

CCCGCGGCTTCAACGGATCTGTG

f7

CTCGAGTTAAGTA

Reversed

TACTTAACTCGAG

f8

CGCGGGCAGTACTT

Reversed

AAGTACTGCCCGCG

Assembly:

f1
                GCCCFCFFCTTCAACGGAT

f2
CCTCGAGTTAA

f3
       TTAAGTACTGCCCG

f4
                                 ATCTGTGTCGGG

f5
                                  TGTGTC—-GGGAGTCG

f6
                             ACGGATCTGTC

f7
                 CCCGCGGCTTCAACGGATCTGTC

f8
 CTCGAGTTAAGTA

f9
         AAGTACTGCCCGCG

The assembly is 51 sequences long. This is well within the given rule that 10 % is quite good tolerance.

